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1. k(C) = 0 2. $(Cx) = C$(x)

3. & = 1 4. $(u+v) = 2;:

5. &“) = 2-g udv vdu
6. &) = dx dx+ - -
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du dv

8. d;(Inu) = t $
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dZP

dP2
= -2ooo(l)+o
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$lo.ow.nwi

c = 100,000+  IOOOU

dP
;Ts= -4s+10,000  = 0
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dS
da = x000-4\
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1
-(C,+C1)=exp(-f(l2-~)~)+(C,+C,)&  exp(P$lO-fl)“)  =  0

d27[
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4 8y-=2?& 2dz
x

S  =  2nrZ+2nrh

h
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ds
dr

= 4rrrp60rm’  = 0

4nr-60rm’  = 0

r’ = ‘J r =
7r’ ,I’

315
iI

= ,.684;a

h = ?!&  =
Y

= 3.368 ;a! m
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qm%ar"ln%"nrmaPPln~~l~~~~

1 . s (0)dx =  C

2. Cudu = C udus

3. s‘(1)dx  = x+C

4 .  (u+v)dx  =s vdx

5 .  (u-v)dx  =s s sudx - vdx

6. s u”+l
u”du  = ~

Il+1
(IId n #  - 1 )

7. s Idu  = In u+C  (~US$O  n = -1)

r”
8 .  J e”du  =  e”+C
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Y

, f(x)

f(x) AA f(x, t Ax)

A = s f(x)dx = F(x)+C . . . . . . . . . . (15)
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h h
A = f(x)dx = F(x) = b(h)  b(a) (Iii)

i t I
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A = 110,000, A+B+C  := 130,000, unt A+2B+4C  = 160,000 8inmnia

kkt-JslbMl~1 A = 110,000 ; B = 15,000 Lb61E  c = 5,000 ~~~~aun?q~%~~~57”UO9n74

=ml&JBl  t ;a

dS
dt =

110,000+  15,ooot  +5,00ot~ . . . . . . . . . (20)
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=  1 7 9 . 1 7 0  ?ai-du
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dZP,
dA2

= o - o . 2
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P,, = -90+157.5P-15P2+0.2PAQ+PQ+2PA~0.1AQ-1.5Q-2A

= -9O+157.5(1)~15(l)2+O.2(1)(11.25)(6.25)+(1)(6.25)+2(1)(11.25)

- 0. I( 11.25)(6.25)  - 1.5(6.25)  - 2(11.25)

= ~90+157.5-15+14.0625+6.25+22.50-7.03125-9.375-22.50

PI, = 58.10+2.70A-O.l2A* . (29)

oyw'pdi8psdJvojaunIs(29)$~

dP,>~ = 2.70&0.24A  = 0
dA
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P” = s-c

= PN-(15+@.3PN+Q+A)

= PN-15-0.3PN-Q-A

= 0.7PN-15-Q-A

= 0.7P(150-15P+0.2AQ+Q+2A)-15-Q-A

= 105P-105PZ+0.14PAQ+0.7PQ+1.4PA15-Q-A

ap,,- =  4.55P-0.28PA  =  o
aA

ap,~ =  P(4.55-0.28A)  =  0
aA
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P
AUTdlMdJ  (iWJfl1~  32) ilM%  a Pn/aP = 0 tps" P ~USY~OWIJCN  A Lh&?i

92.7~21P+4.55A-0.14AZ  = o

21~  = 92.75+4.55A-0.14A*

92.75+4.55A-0.14A'
P =

21

P =
92.75+4.55( 16.25)-0.14(  16.25)'

21

92.75+74.03-36.97
=

21

129.81=
21

= $6.18

(a$j(asj-(&-)' 2 vi0 < 0
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aL 0:  5 aL
;i;  = ay  = O’ ay = O

aL
ax = & (f+lg)

=  fx+g,  Pq%  f,(x, y)+ig,(x,  y )  = 0

aL
ax = $ (f+g)

=  f,+g,  WTO f,(x. y)+Mx,  Y )  = 0

aL
a = & (f+g) = g psi0 g(x, Y)  = 0
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p, = -- 1 5 - Q - A +  IOSp-  10.5p”+  0.14pAQ+0.7pQ+ 14.pA

Subject to WJTll~~fh.WI  28

. . . . . . . . . (31)

L(P, A, Q, ,I) = P,(P,  A, Q) + A(Q  + A - 17.5) . (37)
v

- I  +0.14pQ+  1.4p+i  =  0

-I +0.14pA+0.7p+l  =  0
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105-21p+0.14AQ+0.7Q+1.4A  =  0 .  . . _ . ( I )

21p  = 105 +0.14(11.25)(6.25)+0.7(6.25)+  1.4(11.25)

lO5+9.84375+4.375+  15.75
P =

2 1
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-iI@ ~Plas66lv~daasn
-
$ 100 9,000

200 6,000

300 3,000

400 0
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$ 2 2,000

4 1,500

6 1,000

8 5 0 0

1 0 0

c (eioestiau)  = $1.000  + $ o,80
”

1 3 0 OR 203



OR 203 1 3 1



1 3 2 OR '203



OR 203 133


